1. Mano: 3,3 <v11 <3.,4. OuiHiTh 3HaYCHHS BUPA3Y:
1)3VIT; 2)- /1L 3)5-VIL 4) =2

2. ano: 0,5 <a <3,2. OuiHiTh 3HAaYCHHS BUPA3y:

1)2a-1; 3)4-10g; 5) da+1l
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2) 3a+ 2, 4) aT_l’ 6) 1_43‘1.

3. Mano: =1 <x <2, 1<y <4. OuiHiTh 3HaYEHHS BUPA3Y:
1) 2y + x; 3)y—2x; 5) 2x-3y;
2) 4y — 3x; 4) y—X. 6) (3x — 2y):2.
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4. Cropona xky0a a HaOyBae 3HaueHb: 2 < a < 3. OUiHITh NEPUMETP 1 IOy OJHI€T
rpaHi Ky0a Ta iioro 06’em.
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5. IlopiBusuTe 3HaueHHs BUpas3iB: 0,3 0 0,1 0

6. [lopiBHsiiTe:

1) V10 ++v6 i V11 ++/5; 2)V15- V5 i V2.






